C(s) distribution in 1.00 mg/ml

EDIMENTATION ANALYSIS > C:lanc0411034 3215200018 RA3.

Data Copy Display Model Parameters Run Fit Generate Stafistics Notes Options Help

fitting files 00003.RA3 to 00018.RA3

sf, step “?.‘ g[idsize = h0o
rmsd=l].l]l]]f2l]|5 [n=8040,5SR=0.417346] e g ; . 5 :Q‘

M=
frict ratio = 2127340
H 3

fitting 6.0658 - 7.1053
Baseline = 0.000000

Runs test Z‘[Idv]
whar = 0.7278 (fix]

residuals [OD]
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sed coefficisnt [5]

Data Copy Display bodel Paremeters Run Fit Generste  Statisfics Notes Options Help

fitting files 00002.RA2 to 00018.RA2
59, step H‘E,Y!;ridsize =500
rmsd=0.004117 (n=8538,55R=0.144737)
M= 0.1% J
frict ratio = 1.431640
=) :
Meniscus = 6.044600 -
Bottom = 7.184400 ~

Runs test %[ﬁslddev} = 4.68
vbar = 0.7278 (fix]
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tesiduals [OD]
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sed coefficient [5]




